Micro Economics

B.A. Part-1, Paper-1

1. According to Marginal Productivity Theory of Distribution, Marginal Productivity of the
factor means that

(a) How much is being produced from the last unit of the factor

(b) How much is being produced from the first unit of the factor

(c) How much is being produced from the total unit of the factor

(d) none of these
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2. Which theory of distribution is more valid in modern times?

(a) Marginal Productivity Theory (b) Demand-Supply Theory
(c) Both 1 and 2 above (d) None of these

2. 3myfaw AT A RAaor &1 Fla Rquia 3fs 7w ¢

() EATT Seateahar e (@) #HiaT- qfet o Fegrie
(@) 3WFT 1 TF 2 aer () 377 & IS Adl

3. The author of the book "The Distribution of Wealth (1899)" is -
(a) J.B.Clark (b) Adam Smith (c) David Ricardo (d) J. S. Mill
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4. Who among the following has given the Marginal Productivity Theory of Distribution?

(a) Adam Smith (b) J. S. Mill (c) J. B. Clark (d) David Ricardo
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5. Which of the following is not included in the assumptions of Clark’s marginal productivity of
distribution?

(a) Perfect competition (b) Constant population

(c) Constant amount of capital (d) Labour is heterogeneous
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6. Marginal Productivity Theory of Distribution is based on the following assumptions:
1. Depreciation rule applies in the economy

2. There should be a situation of perfect competition in the market

3. The quantity of the means of production should be stable

(&) 1 only (b) 2 only (c) both 1 and 2 (d) all of the above
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7. Who has contributed significantly to the modern form of Marginal Productivity Theory of
Distribution?
(a) Adam Smith (b) Lionel Robbins (c) J. B. Clark (d) Marshall
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8. Every factor of production gets reward equal to its:

(a) Cost (b) Marginal productivity (c) Price (d) Increasing return
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9. According to Ricardo's rent principle, the reason for the application of rent is —
(a) soil fertility (b) lack of land

(c) the difference between the fertility of the land (d) Fixed supply of land
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10. On which laws of returns is Ricardo's theory of rent based?

(a) On the law of increasing returns (b) On the law of constant returns

(c) On the law of diminishing returns (d) none of these three
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11. What does the owner of the land get as a result of the distribution of the National
Dividend?

(a) Profit (b) Interest (c) Wages (d) Rent
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12. What is the lowest grade land called?
(a) Land

(b) Marginal land

(c) super marginal land

(d) East Frontier Land
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13. According to Ricardo, what is the relationship between value and rent?

(a) Rent is included in the value; (b) Rent is not included in the value,

(c) Both 1 and 2 above, (d) None of these.
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14. Which of the following is wrong -?

(a) The import of food grains prevents the increase in rent,
(b) Rent is received only on good land,

(c) Rent is also a kind of monopoly price,

(d) Rent is the surplus received on transfer income.
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15. Which of the following is not a characteristic of land?

(a) Its supply remains limited for the economy; (b) It is not dynamic

(c) Its usefulness depends on human efforts, (d) It is made by our ancestors
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16. Economic rent can accrue to

(a) Land only (b) Capital only

(c) Specialized technical personnel only (d) Any of the factors of production
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17. According to the modern theory of rent -

(a) Rent affects the price, (b) Rent does not affect the price,

(c) Both 1 and 2 above, (d) None of these.

17. @ & myfas RAeuia ear -

() T Hed N GHITET Rl &, (@) RN Hed S FATIAIT g AT o,
(1) 3IWIFT 1 AR 2 g, (6) 37 & P15 el

18. Quasi Rent was introduced by -

(a) Marshall (b) J.S. mill (c) J. M. Keynes (d) Davis Ricardo
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19. The author of the book 'Economics of Imperfect Competition' is

(a) John Robinson (b) J. B. Clark (c) Davis Ricardo (d) Marshall
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20. By “original and indestructible power of the soil” David Ricardo means
(a) Fertility of the soil  (b) Rent of soil (c) Value of the sail (d) None of these
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21. The goods which do not have any value in the market are

(a) Economic (b) Non-economic (c) durable (d) Gift of nature
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22. According to the Ricardian Theory rent is

(a) Difference of product of superior land and inferior land

(b) Difference of income between smaller farmers and bigger farmers
(c) Surplus of product of all categories of land above the marginal land
(d) None of these
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23. According to the Modern theory, rent arises on

(a) Labour only (b) Land only (c) Capital only (d) All factors
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24. According to the Modern Theory, rent is the difference between

(a) Actual earnings and transfer earnings (b) A land’s produce and B land’s produce
(c) Reward of marginal and sub marginal units of a factor (d) All of these
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25. The modern Theory of rent has been developed by
(@) J. M. Keynes (b) Alfred Marshall (c) Joan Robinson (d) D.H. Robertson
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26. Profits arise because an entrepreneur:
(a) Prepares plan (b) Innovates
(c) Lends money (d) Both (a) and (b)
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27. The following affect rent except

(a) Better location (b) Fertility of land (c) Cleverness of landlords (d) Scarcity of land
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28. These are kinds of rent except

(a) Differential rent (b) Scarcity rent (c) Mobility rent (d) Location rent
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29. Which one of the following pairs of economists and theories propounded by them is
correctly matched?

(1) IS Mill - Wage Fund Theory
(2) Marshall - Demand and supply theory of wages
(@) Only 1 (b) Only 2 (c) Both 1 and 2 (d) None of these
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30. According to the modern theory of wages, wages are determined by

(a) The demand for labour (b) the supply of labour

(c) Both the demand for labour and the supply of labour (d) none of these
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31. Collective bargaining means:

(a) buying goods together

(b) All the people go to the market and bargain to fix the price
(c) fixation of wages by the labour union

(d) selling goods at the fair
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32. Which one of the following pairs of economists and theories propounded by them is
correctly matched?

(1) Prof. Marshall - Classical Theory of interest
(2) .M. Keynes - Liquidity Preference Theory of Interest
(@) 1 only (b) 2 only (c) both 1 and 2 (d) none of these
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33. Change in interest rate does not greatly affect the amount of currency to be held for the
following purposes

(a) Transaction motive (b) precautionary motive

(c) Both transaction and precautionary motive (d) speculative motive
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34."Interest is the reward for parting with liquidity for a specified period." Whose statement is
this?

(a) Marshal (b) Night (c) Bentham (d) Keynes
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35. Who has contributed the modem theory of interest rate determination?

(a) Paul A. Samuelson (b) Gunnar Myrdal (c) Knut Wicksell (d) J.R. Hicks
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36. The speculative demand for money will increase if:

(a) In the opinion of the people the present rate of interest is less than the normal rate of interest.
(b) In the opinion of the people the present rate of interest is higher than the normal rate of interest.
(c) There has been an increase in monetary income.

(d) The economy is booming and the expectations of the traders are promising.
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37. Who propounded the liquidity preference theory of interest?

(a) J.M. Keynes (b) J.S. Mill (c) Fisher (d) Marshall
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38. Which of the following is responsible for variation in interest rates?

(a) Shortage of money (b) Variation of risk

(c) Variation in production (d) various uses of money
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39. The rate of interest is determined at the point where-

(a) IS and LM curves intersect each other (b) IS curve is minimum
(c) IS curve is maximum (d) none of the above
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40. There are several sections in the liquidity preference function. What is the interest
elasticity in the liquidity trap segment?

(a) Infinite (b) Between zero and 1 (c) One (d) Zero
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41. In Keynes's interest rate determination theory, the money supply curve is always-

(a) Vertical (b) falling down (c) falling slope (d) horizontal
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42. According to Keynes, interest is a payment for:

(a) Use of durable goods (b) Use of capital

(c) Use of money (d) Use of land
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43. The rate of interest in the case of liquidity trap is-

(a) Zero (b) Minimum (c) Maximum (d) all of the above
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44. Whose name is associated with the “Uncertainty-bearing theory of profit”?

(a) J. Schumpeter (b) F.H. Knight (c) J.B. Clark (d) F.W. Watker
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45. Profit is reward
(a) To take uncertainty (b) Risk tolerance



(c) To discard the time preference of consumption (d) To avoid uninsurable risk and uncertainty
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46. According to Schumpeter innovation plays an important role in

(a) Capitalist (b) landowner (c) entrepreneur (d) labour
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47."Profit is both the cause as well as the effect of innovations." Whose statement is this?
(a) Marshall (b) Schumpeter (c) Knight (d) Keynes
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48. Whose name is associated with the “Uncertainty-bearing theory of profit”?

(@) J. Schumpeter (b) F.H. Knight

(c) J.B. Clark (d) F.W. Watker
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49. According to Prof Knight, profit is the reward for

(a) Innovation (b) Capital (c) Foreseeable risks  (d) Uncertainty bearing
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50. According to Professor Knight Risks are of kinds:

1. Insurable certain risks
2. Uninsurable risks or Uncertainties
(&) 1 only (b) 2 only (c) both 1 and 2 (d) none of these
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